STX?
v B/ L 7%

B m =
gMEa—F K49670
%, = MWM1252W
Ty g MWM1252W-05

- BBREN DR, I Bt BN 2 T EE <X,
#ﬁFﬂ*Buu(D—*m..li FEHYMRFTEDADEBmMHHIET,

“HAstIHIZ7OUTF v o



H&EDITEXIZDONT

HIEMRmOEIGERICONT

Sy

—

OO0 H

B

DOELIE, FRiEA A K E S0,

En
7
[
<

oo
=

EVCitE:Y)

ok o oRF

o o oo

o

of ot gf
\Qs
/|

BN Y
WEan Y

XA RMERRERXIMARRBE LU, RIKIZBAHT
DHA—LTL—FIRRLTLET,

2. fEmo [ —]. I ROz EEFLT
BYET,

AR E . HAAFEN TV D EE N
LA 2 12 k0 B B

TR ASICE EN S EE TR
TIIAERS LW Eeh

3. AHEE S [ ICRoTND bOk, B
i EEVD, IR R ETOT, 20K
JE TR STV E & £,

4. HEMO—EIZIZ, LDy NEIEDOH
DEELRH Y 4, THEXOBITIHRLIEE
VW, EEERE B O S I TTO RV >
MRFEDIDOXIGE SETCWEE ET,

MABAITERFIZ LD PERSBIR - MEZEE
THZEDHY ET,

FEES ST S A ER L &2 B E SR <72 S0,
ML 2 BT D 9L IR O AT
PEREIC T 2560 £7,

Z OB ORHE RS O HAGEEIR  (GHIR) 13,
EFTHUIV % 9ETY, 2L, IGHERNTH-
Th, FEEE S OWTIIE R &% TR SE T
WG EbLHY £,

RS S O U IR ANBIT 1T EREOMAGERR THE
TLETA, HHEERREEZ TH->Th, flmft
& D ZHERE D B o TG A 1T KOs 2o
TITHRSE TV EEE T,

{REFIZDNT

B OUCE I XHPEDJRA & 720 £ DT, 1770
TLEEY,

o L7 5 A B E ISR R L2 E LUl
HERE B2 D553, RAEOXEINTRD 50
TIHERELTEEN,



MWM1252W Sy EVI <Ly
PAZEN

AER| & &/ 5 oo A Ui R I =
1 |1570313003 AL T7L—ACP 1
2 1 000006200M nU—Y 7 ;0 2
3 | NZ22150 Fvh 8 2va2 M22X1. 50 2
4 | WSA22 NEPFHR 3d7 M2 2 2
5 | 000098100M A IA AN I 1
6 | 000088100M |_X—&Er ; 19X3 1
7 10945902003 HJ—KCP 1
8 | BZ12065 AR 8.8 M12X65 2
9 |NZ12 Fvh 8 232 MI12 2
10 | WSA12 NP Hx 337 M1 2 2
11 |0943941003 77k CP 1
12 | BSZ10030 aFHZRLE 7T M10X30 4
13 | NSZ10 afBFyh 8 22 M1O 4
14 | WSA10 NREYPHF 337 M10 4
15 | 075290100M Tyl ¥ ;10 4
16 |1116921004 |H 7 7L —Ai CP 1
17 | ONASI JYV—2A=vy L A PT1,/8 2
18 | KBB-3530B =R FIA TV Y B 35X39X30]| 4
19 | 099925000M > CP;35x%X153 2
20 | DCO35 CHHERNAD P27 35 2
21 | 076812000M Tyl ¥ 35X2. 3 2
22 | BSZ10020 affZRLE 7T M10X20 2
23 | WSAL0 NEHHx 337 M10 2
24 | 093342100M ¥y CP;30x101 2
25 | BSZ10020 affHZRLE 7T M10X20 2

-1 -




MWM1252W Sy EVI <Ly
PAZEN

AHES| B o /B il fh A i) R T =

26 [ WSA10 NERYFHX 337 M1O0O 2

27 | 1412511003 H—2T—T)LCP 1

28 | ONA6 SV —ZA=v )L A M6 1

29 | 0936740003 71—k 1

30 | BSZ08016 aFHARLE 7 M8X16 6

31 | WSA08 NxYPHx 337 MS 6

32 | 044097200M Ty ;8 6

33 | 0935957003 2AA 7 T7L—h CP 1

34 |0999232003 T 4NV THCP 1

35 |000451000M | B Z7FA/LEF 8. 8 M10X25 4

36 | NSZ10 af X Fvy bk 8 2¥=2 M1O 4

37 | WSAL0 NREPH* 337 M1O0 4

38 |099924000M | AT — 1

39 | 000738000M JoFEL ;6 1

40 | 044098500M T 10 1

41 | NNF10 7504 uarFy bk M1O 1

42 10940140000 FGAYL  FaA 1

43 | 0940930000 Ay Sw—7 4

44 10433691000 |EyFoF A FL—F 1

45 | 1339070000 STAR~Y—Z7F-~UL; 40 (URLYF) 1

46 | 1061641000 SV AL ay 1 1

47 | 1064620000 SV A4 a 48 1

48 | 1064640000 SV /A4y 50 1

ASY | 1606070000 nU—Y L EASSY ;0 -1 2 | H2. 3. 4 ASSY
ASY | 1606060000 Fy 7V Z7EASSY ;1 - 10 1 | F5. 6 ASSY

-2-




MWM1252W Sy EVI <Ly

R—)L) T B R

If—Ju

30
o
18’% @—29

AR—)LE $ 1000~ 1100 &&

\D/31 2254//% 22
23
1—
21/@ 32
N; 5 | . 3 é’\’/19,20

@ | 1d &

\ @ d I
Ty il
e, -

AHES| 8 o B/ B il fh A i) R T =

1 | 0951081004 7 —5LT7 7% hCP 1
2 | BZ12030 ALk 8.8 M12X30 4
3 | WSAl12 NERYFH X 337 M1 2 4
4 | 065482200M Ty 12 4
5 | 093475000M | T — /3R A 4
6 | BZ20300 AR 8.8 M20X300 2
7 |NZ20 Fvhk 8 2¥=2 M20 2
8 | WSA20 NEHHx 337 M20 2
9 |1412360004 U7 h7—ALCP 1
10 | ONAG TV —=RA=w 7L A M6 1
11 | 093343100M ¥y CP;30x231 2
12 | BSZ10020 aBFHARNLE 7T M10X20 2
13 | WSA10 NREYPHF 337 M10 2
14 | 093342100M >y CP;30X101 1
15 | BSZ10020 afFHRNLE 7T M10X20 1
16 | WSA10 NEXYFHX 337 M1O0O 1
17 1039130003 AYam—nLT 7 hCP 2
18 | BZ12035 ALE 8. 8 M12X35 4
19 |NZ12 Fv bk 8 2v=2 M12 4
20 | WSA12 NEYPHR 337 M1 2 4
21 | 125519000M Jwiy 3 30, 5X4. 5 2
22 | 1245121000 AYaua—LCP 2
23 | 066650100M T — 2
24 | 085137000M Uy 13X3.0 2 2
25 | WSA12 NEHHx 337 M1 2 2

-3-




MWM1252W S vEVSI I Y
R—=)L) 274 k¥30—)L

30
o
18‘% @—29

AR—)LE $ 1000~ 1100 &&

\D/31 2254//% 22
23
11—
R
N; 5 | . 3 é’\’/19,20
@ | 1d &
Nd 1@ & ®
=y i
e, -
S - - I < I i 5%k i 4
26 | BZ12020 AL 8.8 M12X20 2
27 | 1412781003 777 v K 1
28 | BZ12035 ALk 8. 8 M12X35 4
29 |NZ12 Fvh 8 2¥= M12 4
30 | WSA12 NEXPHFR 337 M1 2 4
31 | 1064630000 F)v s A ay 49 1
32 | 073444000M DA -




MWM1252W Sy ELS LY
REUEEAY

15—

\@/

AHES| B o /B il fb 4 i) R T
1 |0938882003 AHR CP 2
2 10939160000 FyYAH—;150 2
3 | BSZ10025 afHRLE T M10X25 8
4 |NSZ10 aBZFv b 8 2¥=2 M1O 8
5 | WSAL0 NREYPH% 337 M1O 8
6 | 044098500M Jvi¥ ;10 8
7 | 150336000M £y CP 2
8 | 000086200M | N—ZEL ;12X2 2
9 | CAP050050 Fyrv7” 50X50x2. 3 2
10 | 0934824004 Xy AX— CP 2
11 | J6210LLU R—=N_XT7TVY>7 6210LLU 2
12 | J6208LLU R—=N_T7TVY>7 6208LLU 2
13 | 077984000M Jyi¥; 55X25. 5X6 2
14 [ 000712000M Xy vALFTyh;M24X1. 5 2
15 | PC040032 JUEY 4X32 2
16 | 000416000M Fyv7 ;80 2
17 0933324004 ZAY¥ ;365 2
18 | J6206LLU R—=n_71Y>7 6206LLU 4
19 | 093433000M HT7—;32. 9X120 2
20 | 066650100M HT— 4
21 | 070433200M Xyv/ 4
22 | 0934320004 vy CP;30X196 2
23 | 062908100M Ty ; 20 2
24 | NZ20 Fvh 8 2¥2 M2O0 2
25 [ WSA20 NREPHF 337 M20 2

-5-




MWM1252W Sy ELS LY
REUEEAY

12083-3
L I O 2 L R < B %% i =l
26 | BZ12025 AL 8.8 M12X25 4
27 | WSA12 NAFHEX 34y M1 2 4
ASY [1625100000 |E>CP;30X196 ASSY

2 | F.22, 24 ASSY




MWM1252W S wEVI I Y
OR9T ALY

AER| 5 &/ 5 il fh A i) R T =
1 10931130004 | HART YT 1
2 | BX10030 ALE 10. 9 M10X30 1
3 | BX10040 ALE 10. 9 M10X40 23
4 | WSA10 NEYPHR 337 M10 24
5 | ONASI JYV—A=v 7NV A PT1,/8 1
6 | 1440750006 |7 YVE—X ;MP 125 1
7 10931780004 AA— 1
8 | ONB6 JV—ZA=v7) B M6 1
9 | BZ12045 ARLE 8.8 M12xX45 2
10 | BZ12040 AR 8.8 M12x%X40 4
11 | WsA12 NP Hx 337 M1 2 6
12 |NZ12 Fvh 8 2va2 M12 2
13 | WRAL2 eI AE M1 2 4
14 | 0932240000 Tya s 41X25 1
15 | 0931810002 r=4.;13T 1
16 | 0907800000 Jwyiy ;8. 5X3. 2 1
17 | BSZ08020 affZRLE 7T M8X20 1
18 | WSA08 NEXYFH X 337 MS 1
19 | 087166000M | A~X—H# ; 35. 7X25 1
20 0779320002 | ~__A=#4>; 15T 1
21 | 1120970003 XY RNLA 1
22 | J6904LLU R—=N_7Y7 6904LLU 1
23 | J6306LLU R—=N_7Y27 6306LLU 2
24 | DHCO72 CHEZKNADU TF 72 2
25 | BZ12025 AR 8.8 M12X25 8

-7-



MWM1252W S wEVI I Y
OR9T ALY

AHES| B o /B il fh A i) R T
26 | WSA12 NEYFH X 337 M1 2 8
27 1093204300M | B/ — 1
28 | BZ06016 ALE 8.8 M6X16 2
29 | WS06 NEYPHR 237 M6 2
30 | WRAO6 IR M6 2
31 | 0779311002 | _~ULF¥ ; 23T 1
32 10931790002 D A N S i 9 1
33 | 093182000M YaArh 1
34 | PS060040 2AFYTEY 6X40 2
35 | 1121950002 X TR ALY 1
36 | JPF2066 NAT7FY <) PF206 2
37 | JCS206LLU o=y a3 yRFTYLS CS206LLU 1
38 | BSZ10035 aBFARNLE 7 M10X35 3
39 | NSZ10 afjZFyh 8 232 M10 3
40 | WSA10 NEXYFH X 337 M1O0O 3
41 | KFC08070320 |~A 2w ¥— VJUgou<wjyl 8X7X32 -




MWM1252W Sy EYIT <L

\I

SR 7, 0—5ho 58—

AER| 5 &/ 5 i w4 Ui R T =
1 | 141210000 |A7F w4 vk 50X20T 1| =& ¢100~110cm H
2 | 141211000 |A7@4 v h; 50X22T 1| =L F%$120~130cm ]
3 |000088100M |_X—&tr:19X3 1
4 |112198000M |HTF—; 25. 5X26. O 1
5 1093399000 |HTF—;25. 5X12 1
6 | 056984000M VA 1
7 10932341004 n—> CP 1
8 | JCSPB207LLU | X7V Z/=2=vr CSPB207LLU 1
9 | BZ12045 ARLR 8.8 M12x45 2
10 | NZ12 Fvhk 8 2v2 M12 2
11 | WsSA12 NP Hx 3d7 M1 2 2
12 | 042783600M Ty ;12 2
13 | JPF207G NRA 752y <) PF207 2
14 | JCS207LLU o=y b3 YXRTYLY CS207LLU 1
15 | BSZ10025 affZRLE 7T M1I0OX25 3
16 | NSZ10 affZFyh 8 232 M10 3
17 | WSA10 NEXYFHX 337 M1O 3
18 | 100260000M | A F—;42. 7X9. 5 1
19 | 094567000 | A F—;42. 7X37. 5 1
20 | 094565100M | A7 w4 k; 50X28T 1
21 | 088917000M |HF—; 35. 7X4 1
22 | WRA24 7T R M2 4 2
23 | NC2L24200 ¥FyrvALFy b 23a2bZ M24X2. 00| 2
24 | PC050036 JYEy 5X36 2
25 10932390002 VXTI N hU U 1




MWM1252W Sy EYIT <L

\I

SR 7, 0—5ho 58—

AER| 5 m F & il w4 i) R T
26 | J6012LLU R—=L_7V7 6012LLU 2
27 | JCS207LLU o=y hIUYXRFYLY CS207LLU 2
28 10932230003 A% 2
29 | BZ12030 AR 8.8 M12X30 8
30 | WSAL2 NEYPHR 337 M1 2 8
31 | 065482200M Ty ;12 4
32 1093232100M | AF w4 v k; 50X25T 1
33 1094565100 | A7 a4 vk ; 50X28T 1
34 | WRA24 v IR M2 4 2
35 | NC2L24200 XFyrvALFyh 2vabZ M24X2. 00| 2
36 | PC050036 Uy 5X36 2
37 1093230100M | AF w4 v k; 50X18T 2
38 | J60O5LLU R—=N_7Y>27 6005LLU 4
39 | DHCO47 CHHNADU TF 47 2
40 | DCO25 CHH K AU Y27 25 2
41 | 1412120000 | T av 7545y RCP ;1 1
42 | DCO30 CHZ b AU Y27 30 2
43 | BSZ10025 affZRLE 7T M1I0X25 1
44 | WSA10 NEYFHX 337 M1O 1
45 | 075290100M Jwiv s 10 1
46 | 093716100M 2y RCP ;1 1
47 | NSZ10 affZFyh 8 232 M10 2
48 | 081267000M |TF > =arum—F CP 1
49 | DCO17 CHEKNADU P27 17 1
50 | LA50157B n—5Fx—r 50X157L F73YFF1| 1 | [R50, 514F

-10 -




MWM1252W Sy EYIT <L

\I

SR 7, 0—5ho 58—

AHES| B o /B il fh A i) R T
51 | AAO50 Y¥7T 50 -
52 | AD050 7y RV Z 50 -
53 | 093601500M | HX—FL—hk CP8 1
54 | BSZ08016 affHZRNVE 7T M8X16 1
55 | BSZ08020 aBFHARLE 7T M8X20 2
56 | WSA0S NxYPHx 337 MS 3
57 | NSZ08 afXFvy bk 8 2va MS 2
58 | 1412150003 Fz—247—ACP ; R 1
59 | 1412200003 Fxz—247—ACP ;L 1
60 | 0006900000 =XV ;M8X14 6
61 | WCHOS PFINR% Va2 MS 6
62 | 1339780000 STAR~Y—Z77-~UL; 40 1
63 | 1064650000 FYv s, rA4ay 51 1
64 | 1061710000 S~V AL al 8 1
65 | 0009350000 |KETFL;R—70100SQS 1
66 | 0009360000 |KEHTFL; Y—50100SQS 1
67 |WRAL0 EI7¥HRr M10 1
68 | 1511810000 FYL s r LAy 268 1

-11 -




MWM1252W Sy EVI <Ly
P F97;3oFko0—>

AER| 5 &/ 5 oo A Ui R I
1 10932341004 n—> CP 2
2 | JPF207G NA 75y <) PF207 8
3 | JCS207LLU o=y haYXRFTYLY CS207LLU 4
4 | BSZ10025 affARLE 7T M10X25 12
5 | WSA10 NEYPHR 337 M10 12
6 093232100 |A7m4 v h;50X25T 2
7 1093402000 |HTF—;35. 7X43. 5 2
8 | WRA24 7T M2 4 4
9 | NC2L24200 FrovALFYy R 2vabZ M24X2. 00| 4
10 | PC050036 Ty 5X36 4
11 | 148470000 |Fv v av 7547y bk CP; 2 1
12 | DCO30 CHZ N AU Y27 30 1
13 | BSZ10030 aFHZRLE 7T M10X30 1
14 | WSA10 NEXYPHx 337 M10 1
15 | 075290100M Tyl ¥ ;10 1
16 | 081267000M |F v grm—F CP 1
17 | DCO17 CHE N AU Y7 17 1
18 | 093718100M oy RCP ; 2 1
19 | BSZ10030 affARLE 7T M10X30 1
20 | NNF10 75 FfarFy Rk M10 1
21 |NSZ10 affZFyh 8 232 M10 2
22 | LA50090 n—5Fx—2r 50X90L 1
23 10938051003 JXR—C P 1
24 10006900000 |=F1VU ;M8X14 3
25 | WCHOS PIR% Va2 MS 3

-12 -




MWM1252W Sy EVI <Ly
K073 ko0—-3

L I O 2 L R < B %% i
26 1339780000 |[STAR~V—Z 7L ; 40 1
27 1061710000 | F~L; (s 8 1
28 0009350000 |HTF~UL; R—70100SQS 1
29 0009360000 | HT7~1;¥Y—-5010085QS 1
30 | 094946000M |V v % ; 17. 5X2. 3 2

-13 -




MWM1252W S wEVI I Y
Sy THRILE—;1.2

AHES| B o /B il o 4 i) R T
1 10936163002 DA SZAN 1
2 10936170002 TR —TT— 1
3 1 093618200M 0oy 7 L—h 1
4 |BJ05012 7%y vy 7FB 10. 9 M5X12 2
5 |NZ20 Fv bk 8 2¥=2 M20 1
6 | WSA20 NEHHx 337 M20 1
7 | ONA6 JV—ZA=v 7 A M6 1
8 0936133004 1 CP 1
9 | KBB-2520B =R RIARXTY 7 B 25X28X20| 1
10 | 110567100M | % 7 b+ ; B A 1
11 | NN20 FTAarF v b M20O 1
12 | WSA20 NREPHF 337 M20 1
13 | 093615500M oy K CP 1
14 | WRAL2 eI AE M1 2 1
15 | PC032020 YLy 3. 2X20 1
16 | 093754000M T —7 TR 12X48 1
17 | 093755000M By 12X48 1
18 | WRA12 EI7FHTR M1 2 1
19 |NZ12 Fv bk 8 2v=2 M12 1
20 | 077412000 | 2 AU r ; H 2
21 | 076104000M | A/ K ;M1 0 2
22 | NSZ10 affZFyh 8 232 M10 4
23 | 093548100M F FRNVH 1
24 | 093623300 7 v FARIL R 1
25 | NZ14 Fvhk 8 2v=2 M14 1

-14 -




MWM1252W S wEVI I Y
Sy THRILE—;1.2

AlER| 5 & o B o 4 i) R T =

26 | 093495000M 27V 7 H 1

27 | 093624100M 71—k CP 1

28 | PS050040 2AFY Ty 5X40 1

29 | BSZ10040 aFHARLE 7T M10X40 1

30 | NSZ10 afAFyh 8 2¥=2 M1O 1

31 | WSALO NEYPHR 3a7 M10 1

32 | BXI12050 ALE 10. 9 ¥ M12X50 1

33 | NZ12 Fvhk 8 2v=2 M12 1

34 | WSAL2 NEHHx 337 M1 2 1

35 |093611300M |7 —X4 CP 1

36 | KBB-2520B =R RFIARXTY 7 B 25X28X20 | 2

37 0936252003 71—k 1

38 | BSZ10020 aBFHARLE 7 M10X20 2

39 | WSAL0 NP Hx 337 M1O0 2

40 | WRAL0 7 AFx M10 2

41 |NZ16 Fvh 8 2v2 M16 1

42 | WSA16 NEXYFH X 337 M16 1

43 | 0774120000 | AV 2 H 1

44 1076104000 |[A/L K ;M1 0 1

45 | NSZ10 afHARNLE 8 2v= M1O0 2

46 | 093620100M =N 1

47 | 093754000M T —7 TR 12X48 2

48 | 093755000M Fr; 12%X48 2

49 | NZ12 Fv bk 8 2¥=2 M12 2

ASY | 1625120000 HALCP ASSY 1 | &8, 9 ASSY
ASY | 1625130000 7—ALCP ASSY 1 | F.35. 36 ASSY

-15 -




MWM1252W Sy EVI <Ly

ZwTRILE—;3

AHES| B o /B il th A i) 555 T
1 ]093700600M 7—A CP 1
2 | KBB-2025B =R RIARTY S B 20X23X25 | 2
3 1093622000M F ¥ IV 1
4 | BZ12035 ALE 8.8 M12x35 2
5 | WSA12 NEHHx 337 M1 2 2
6 |NZ12 Fvhk 8 2¥=2 M12 2
7 1093621000M SV 1
8 | WRA20 7T R M2 0 2
9 | PC050036 JYEL 5X36 2
10 | 093701100M oy RCP 1
11 | PC032020 YLy 3. 2X20 2
12 | WRAL2 eI AE M1 2 2
13 | 093754000M T —7 TR, 12X48 1
14 | 000062200M Ly 12X35 1
15 | NZ12 Fvh 8 22 M12 1
16 |093702300M |7—4A CP 1
17 | KBB-2025B =R RIARTY 7 B 20Xx23X25| 1
18 | WRA20 eI AR M20 1
19 | PC050036 JYEL 5X36 1
20 | 0916481006 AN T 1
21 | 070286100M AT T IRVE— 1
22 | 025266000M X AP HF 1
23 | BXI12110 ALVE 10. 9 ¥ M12xX110 1
24 | NZ12 Fvhk 8 2v=2 M12 1
25 | 0937560000 TH—J7 TR ; 16X32 1

-16 -




MWM1252W Sy EVI <Ly

ZwTRILE—;3

AES| 5 oW’ B il o 4 i R T
26 | 099021000M Ly C16X42 1
27 |NZ16 Fvh 8 2v2 M16 1
28 | WRAL6 eI HEX M1 6 1
29 | PC032032 Yy 3. 2X32 1
30 | 093704000M oy RCP 1
31 | BSZ10055 aFHRNLE 7 M10OX55 1
32 | NNF10 750V fuarFyhk M1O 1
33 | 093709000M =V 1
34 | 075290100M Ty ;10 3
35 | NNF10 75 0F A urFvh M10 2
36 | 093707100M 7—A CP ;A 1
37 | BSZ10050 aBFHARLE 7 M10O0X50 1
38 | NNF10 75V FfuarFy bk M1O 1
39 | 093708000M 7—XA CP ;B 1
40 | BSZ10050 aBF AR 7 M10OX50 1
41 | NNF10 75V FfuarFyh M1O 1
42 1 093784200M | AR/LH — 1
43 | KBB-2030B =R RIARXTY 7 B 20xXx23X30| 1
44 | 099920000M T THRNVE— CP; 2 1
45 | BJ08020 PI7F%Fvyv 7B 10. 9 M8X20 2
46 | 140863100M F v FHRALECP ;1 1
47 | KBB-2012B =R RIARXRTY Y B 20X23X12| 2
48 | 057788100M DN 4
49 | 075290100M Ty ;10 1
50 | BSZ10020 aFHARLE 7T M10X20 1
51 [ WSA10 NEYFHX 337 M1O 1
52 | 1412410003 HNRX—CP; A 1
53 | RRT08020 ARZB 10. 9 M8X20 3
54 | WSA08 NEYPHR 337 MS 3
55 | 044097200M Ty ;8 3
56 | 141243000 | FA 7 FL—k 1
57 | BSZ08016 aBF AR 7T MS8X16 2
58 | WSA08 NP Hx 337 MS 2
59 | WRAOS LT R M8 2
60 | 099999100M | F 1 7 1
61 |BZ06016 AR 8. 8 M6X16 2
62 | WS06 NREPHx 237 M6 2
63 | WRAOG v 7 AR M6 2
64 | WRAOS v 7 AR M8 2
65 | NZ06 Fvh 8 2v=2 M6 2
66 | 141244000M | XL — b 1
67 | BSZ08016 aFHRLE 7T MS8X16 2
68 | WSAOS NEXYFHX 337 MS 2
69 | WRAOS IR MS 2
70 | 132680100 | HA KCP 1
71 | 055474000M B FXARLE 8. 8 M8X20 2
72 | NSPOS affZ ATV TSy b 4 MS 2
73 | 132683100M HA RFL—F; L 1
74 | 132684100M HA RFL—F ;R 1
75 | BSZ08025 aBF RS 7T M8X25 2

-17 -




MWM1252W S wEVI I Y
ZvITHRILE—;3

R B =2 i fi v R (R il =
76 | NSPOS8 aBFHXATY Ty N 4 M8 2
77 | 044097200M Uy ¥ ;8 6
78 | 1064660000 SV A4 ay 52 1
ASY | 1625140000 7—ALCP ASSY 1 | R.16, 17 ASSY
ASY | 1625150000 LA — ASSY 1 | R42, 43 ASSY

-18 -




MWM1252W S vEVSI I Y
AMLYFITL—LA

o
w3 R XS
o 14— g b3
%H—(P\ © 51 \ i
Bl e
Ao 53 5 =
b 23 9/5540 ‘ Q/“O
/ U
’s 22 i:m B 52
v S - gyw 1 F 33
e 94 ) o1 g 47
//\ S 20—® g\w\L \¢
6 29 /g q /{%/@\34 S=>46
28 28 §/45
30 /m\%@ gj 42
Lo : =
. E—a1
48\©A%
39
AER| 5 &/ 5 oo A Ui (EES I =
1 1412250004 AR wFT7L—ALCP 1
2 BZ12090 ALk 8.8 M12X90 2
3 | WSA12 NP HFR 33U M1 2 2
4 NZ12 Ty 8 2v= M12 2
5 8023270004 7T—ALCP 1
6 B7Z16110 ALE 8.8 M16X110 2
7 WSA16 NREYPHx 3477 M16 2
8 NZ16 Ty 8 2v= M16 2
9 141231100M A 2
10 132367000M 7L—k 1
11 BSZ08020 aBFHERLE T M8X20 2
12 | NSP08 aFHEATV T Fy v 4 M8 2
13 132368100M 7wy 7 CP 2
14 080414100M Uvix ;8 2
15 BSZ08025 aFHERLE T M8X25 2
16 | NNFOS8 A% e =0y n B N Y K 2
17 043345400M NTACE Sy /4 2
18 141232000M 77 1
19 BSZ10040 aHZFRNLE 7 M10X40 1
20 BSZ10035 aHZFRNLE 7 M10X35 1
21 NSZ10 afHtyh 8 2v=2 M1O 2
22 10999180000 HAATY) 7 50k g f 1
23 | NNF10 7750 /ey b M1O 1
24 137487000M ¥ 7 b 1
25 | BSZ10055 afFHERNLE 7T M10X55 1

-19-




MWM1252W S vEVSI I Y
AMLYFITL—LA

|
36
/Rf 53_§ <
| .
23 54
» 8 B/ ‘ O
21 52
- 3-8 g%18 1 F 33
) 1 21 é\ S 47
A 4,31 20—® J\ et
6 29/%;8/ < /%/@\34 =46
N 26 ©
28 30 % ] %”42
4
g _Gm— NS
25 %35 ©—43
S—44
. E—a
48\©A%
37
'f@ﬂ 2
39
N B =2 i i v R 8% il %
26 | NNF10 7750y b M10 1
27 | 000088100M NR—FEr;19X%X3 1
28 | 132377100M RVECP 1
29 | BZ06055 ALE 8. 8 M6X55 1
30 | NNF06 7504 arF v b M6 1
31 |1323741000 n—7;:625. 5 2
32 | PC050036 JUELY 5X36 1
33 [ 132708100M x 7k 1
34 | BSZ10055 aFEZFRNLE 7 M10OX55 1
35 | NNF10 7504y F vk M10 1
36 | 000088100M N—HZE; 19X3 1
37 | 132377100M RILZCP 1
38 | BZ06055 ALE 8. 8 M6X55 1
39 | NNF06 A% e =0y e N Y/ 6] 1
40 | 1323741000 o—7; $25. 5 1
41 | 132375000M HT— s AvF 1
42 | 132379000M n—7 ; Av¥ 1
43 | J6206LLU R—=n_7Y7 6206LLU 1
44 | DHC0O62 CHHNAY TF 62 1
45 | 072005000M 27V T A 1
46 | 058125200M Ty 26X2. 3 4
47 | PS050045W ATV T HXT7Nay 5X45 1
48 10633120000 T r— 77— b 1
49 | 802175000M 77/ v hCP 1
50 | BSZ08020 afHARLE T M8X20 2

-20-




MWM1252W S vEVSI I Y
AMLYFITL—LA

16 12\8 10 16
13 \@ 17 g 13
s 12"
w2l
q 14 g =g e
m\ ° <51 \ i
| 75’ M%\m\ 36
Ao 53_§ =
o E .
23 54
& B/ &
23—@22 é/zle 1 % 33
4 . / L— [ —
= @y 47
A 5 31 20— 19 -
6 29/%% q /%/@\34 § 46
28 28 §/45
30 - @iJ 42
S . =
. E—a
48\©l%
37
'f@ﬂ 5o
39
AHES| B o /B il Hh 4 i) (EES T =
51 NSP0O8 aAFEATY Ty N 4 MS 2
52 0940341000 0—=7 1
53 1329461000 F~)L ;s T 4 )V A 1
54 1064670000 I A3y 53 1
55 10967970004 R A 2

-21 -



MWM1252W Sy EVI <Ly

AbLyFOo—3

L/

AMER| 5 F B i fh A i) 1554 T
1| 137497100M 7L —ACP ; ARLvF 1
2 | JCS203LLU o=y hIXRFTYLS CS203LLU 4
3 | JPFL203G NAT7F5Y kL PFL20S3 8
4 | BZ06020 ALE 8.8 M6X20 4
5 | NP06 ATV T Fy b M6 8
6 | WRAO6 IR M6 8
7 | 1343760003 HN—CP ; AL wTF 1
8 | 1375011000 ZRLyFur—J5CP;720—18T 1
9 | 1375031000 ZRLyFur—F53CP;720—28T 1
10 | NZ12 Fvhk 8 2v=2 M12 2
11 | WsA12 NP Hx 337 M1 2 2
12 | WRAL2 eI AEx M1 2 2
13 | 134892000 |F¥ w7 ; 45 2
14 | 141233000M T A4NVINTA RCP 1
15 | BSZ08020 afFARLE 7T M8X20 4
16 | NSPO8 AFEATYV TSy N 4 M8 4

-22 -




MWM1252W
arvy

17.18
18
B
.

AlER| 5 & & il fb 4 i) R T
1 | 1484831000 FoYoRy ;s 3(MWMI 2) 1
2 | BSZ08070 aFHERNLE T M8XTO0 2
3 | WRAOS IR M8 2
4 | NSPO8 aBHXATV Ty s 4 M8 2
5 | 146561000M TANETFAVSIPEFET 7 PF1,/4 6
6 | 1084-04-06 A—A=v 7NV PF1,/4XPF3,/8 2
7 | KHO602800DP |7 YA —A 3,/8X2800 S901—4 | 2
8 | 106900000M 7wy PF1,/2XPT3,/8 2
9 | KH0402400GP |7 YAR—A 1,/4X2400 S452—4 | 2
10 | 1033-04-06 A=Az PF1,/4XPT3,/8 2
11 |0948451106 UYL H CWP75X365%X6209 1
12 | KH0404400GP | =7 YhR—RA 1,/4X4400 S452—4 | 2
13 | 1033-04-06 AR—Ax/R PF1,/4XPT3,/8 2
14 | 0931592206 PULUH CWP55X210X480 1
15 | 0941061004 g IN— 1
16 | 044097200M T 8 2
17 | BSZ08016 aFHRLE 7T MS8X16 2
18 | WSAO08 NEXYFHX 337 MS 2
19 | 1412480003 I 2N— 1
20 | WRAOS IR MS 3
21 | BSZ08020 afHZRLVE T M8X20 3
22 | NSP08 aBHXATV Ty s 4 M8 3
23 | 0941090000 =075 14 1
24 | BZ06040 ALk 8. 8 M6X40 1
25 | NNF06 75 o0FfuarFv b M6 1

-23 -




MWM1252W
arvy

17.18

AER| & o F 5 i i £ R fiE%5% il
28 | 098530000M F ¥ R 6
29 | BSZ08016 aBFHRLE 7T M8X16 3
30 | WSAO8 NREYPHX 397 M8 3
31 | 093909200M 777k CP; 2 2
32 | NSZ08 afZFy Rk 8 232 MS8 1
33 | WSAO8 NREYPH xR 3a7 MS 1
35 | BSZ08016 aHZRLE 7T M8X16 3
36 | WSAO8 NP H xR 337 MS 3
38 | NSZ08 affAZFy b 8 232 MS 1
39 [ WSA08 NREPH%x 347 MS 1

-24 -




MWM1252W S vEVSI I Y
INT— Ny H—

23,26

22

13967-1
AES| 5 o & 5 B w4 s R T
1 1124480000 | /ST — Ry — 1
2 | 2086-06 )R PT3,/8 1
3 | 106900000M 7y PF1,/2XPT3,/8 2
4 1369190000 TANE 2 1,/2—60u 1
5 | KHO800500PP |7 Y7H—A 1,/2X500 4—4 2
6 | 1035-08-06 AR—AxTNHR45 PF1,/2XPT3,/8 4
7 | 1068-06 PF7vy>»”7 PF3,/8XPT3,/8 2
8 | 0008270000 PICH/"—; 3 1
9 | 044097200M ARV E SR 3
10 | BSZ08016 aBF RN 7T MS8X16 3
11 | WSA08 NP Hx 3d7 MS 3
1210939071003 71—k 2
13 | BZ12040 ALk 8.8 M12xX40 4
14 | WSA12 NP Hx 337 M1 2 4
15 | NZ12 Fvh 8 232 MI12 4
16 | 065482200M Ty 12 4
17 | BZ12030 ALk 8.8 M12X30 4
18 | WSA12 NEXYFHX 337 M1 2 4
19 | JSF040ASY NI —Va4F SF—40 1
20 | 000462300M >y CP:;10 1
21 0003970000 PICx¥¥>y~7 ;30 1
22 | ILT250 Aoy XA 4. 8X251 5
23 | 0749681000 ANRAL TN F2—T ;500 4
24 | 0889750000 F~L;300—350r pm 1
25 | 1412450000 TGV Ny e 1
26 | 1425710000 ANRLFGNFa—T 250 17

-25 -




MWM1252W Sy EVI <Ly

T
7,8,9,10/%/’
22/
AER| 5 & o il fh A i) 1554 T

1 | 112214000M 777y~ CP;kBUH— 1
2 | BSZ08020 aFHRNLE T M8X20 2
3 | WSA08 NEAHAR 3947 MS 2
4 | 044097200M 7y 8 2
6 | CP03010 +F_Raxy M3X10 2
7 | CP03014 +F_Raxy M3X14 2
8 | NAO3 Fvh 4 232 M3 2
9 | Wso3 NExYPHx 297 M3 4
10 | WRAO3 I AFx M3 4
11 | 1347711000 = N = i /S 1
12 | 1412390000 vV a—FK 1
13 1105931000 |#Et=a— K ; B H— 1
14 | 1345450000 2—K;5000 1
15 | 8042390000 Y =TT 4 RE—H A, T 1
16 | 098755200M VA% 1
17 | BSZ08020 aFHARLE 7T M8X20 2
18 | WSAO08 NEXYFHX 337 MS 2
19 | 044097200M Uiy 8 2
21 | 0937330000 PR 1
22 | 0937320000 ¥k —; GLS—S1 1

-26 -




MWM1252W Sy EVI <Ly
koAhF

AER| 5 & o il i 4 i) 1554 T
1 | 160440000M 777 v kR 1
2 | 160441000M 777w ;L 1
3 | 1601340000 VTSI Y 2
4 | 1601350000 A A V4 1
5 | 160442000M TL—bh AT TUL 1
6 | 1603990000 2—KR:;5000Xx1800X500 1
7 | BSZ10020 aBFHARLE 7T M10X20 4
8 | WSA10 NP Hx 337 M1O 4
9 | BSZ08020 aBFHARNLE 7T M8X20 2
10 | NSPOS8 AFEATYV Ty N 4 M8 2
11 | CP04025 +F_Raxy M4X25 6
12 | NNo4 FTAurtv b M4 6
13 | 1601500000 FNYL s Ay R 1
14 | 1601510000 Z~L; 15km h 1
15 | 1600840000 A AN =Ry A 1
16 | ILT150 Arvanay B A 2
17 | ILT380 Avvany XA 7. 5X382 4
18 | 1604031000 AN N A 1

-27 -




MWM1252W S vEVSI I Y
F—2)avsH

9
6
12216-3
AER| 5 & o il fh A i) 1554 T
1 |0965654004 A KkwsX CP 1
2 | KBB-3540B H—=Ry RIAXTY 7 B 35X39X40| 1
3 | 077984000M Jwv v 55X25. 5X6 1
4 | NZ24 Fv bk 8 2v=2 M24 1
5 | WSA24 NREAYPHx 3347 M24 1
6 | 0800390006 AT T 1
7 | 070286100M 2SI RNH— 1
8 | 025266000M X2 A Y H R 1
9 | BXI12100 ALE 10. 9 ¥ M12X100 1
10 | NZ12 Fvhk 8 2¥2 M12 1
11 | 098666200 | HF—; 28X39 1
12 | KBB-2530B =R RIARXRTY 7 B 25xX28X30| 1
13 | PS050040 2TV LTy 5X40 1
ASY | 1625110000 Z kv /SCP ASSY 1 | F1, 2 ASSY

-28 -




SF-50

NT—o3a4 2k

AER| 5 & o il fh A i) 1554 T
ASY | JSF050ASY NJ—Va4F SF—50 1

1 | JSE0501ASY YaAfrh AF2 SE—50 1

2 | JSF0502ASY VaArh TUuXsI SF—50 1

3 | JSE050-3 TR IIN— A SE—50 1

4 | JSE050-4 TR R— TUH SE—50 1

5 | JSE-ASY ANRAH 72 SE AS100 2

6 | JPC14ASY 77y 732 (14) 1

7 | JPY6226-2 ErYxa—27 (SE) 1| Reft

8 | JFY6229-22 T4 T 4 ra—r TuHE(SE) 1

9 | JSE050-2 NAT TouX SE—50 1

10 | JSE050-1 NRAT A4vF SE—50 1

11 | JFY6228-22 T4y T4 ra—2 AF(SE) 1

12 | PS100065 A7V 10X65 2

13 | JPY6227-2 ~NV7Fa—27 (SF)(30) 1

-29 -




S—240516F

F ® A ft 066-8555

F & B ¥ M 066-8555

098-4100

Hlg
Bl
113
W
‘='|n_€

# 5 B % Pr 080-2462

hiEEEEMR 086-1152

1€ % B ¥ Pr 028-3172

il & B %= Bt 984-0032

Il E ¥ P 323-0158

W EE ¥ Pr 485-0081

M 4 E % fr 700-0973

AE A B ¥ Bt 861-8030

#} 2 ¥ Fr 885-1202

FEmLEE#H 1 06 1 Fih 2
TEL 0123-26-1123
FAX 0123-26-2412

FE T LEE & 1 0O 6 1 & h 2
TEL 0123-22-5131
FAX 0123-26-2035

BMFEEHORY1191FM4 4
TEL 0162-82-1932
FAX 0162-82-1696

wLhmAE22%d1TH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

ZEM P IZEZEMIGELBET2TH 16 &2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEENESOEEALFMRE 1 11#0E120%F3
TEL 0198-46-1311
FAX 0198-45-5999

EHRMWEMEMRERASTH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

wmAE /ML H R 251 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

TMBEBNKTEANFIHFOG6 7 8 — 1
TEL 0568-75-3561
FAX 0568-75-3563

BIUERBUMmERTHE704—-103
TEL 086-243-1147
FAX 086-243-1269

RARBAMER/NMUE 1639 — 1
TEL 096-389-6650
FAX 096-389-6710

BEERRAHETESHEAR/EHL 1003 -2
TEL 0986-53-2222
FAX 0986-53-2233

RiEMS

Ho}

ST

i3

|



